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Ответ:  (   )               (   )               (   )       
6.  01>B0NI55 =0 48AB0=F88 CAB@>9AB2> A>45@68B 1600 M;5<5=B>2 (@5;5, @578AB>@K, 

:>=45=A0B>@K, B@0=AD>@<0B>@K 8 4@C385). $8:A8@>20;8AL >B:07K G5@57 :064K5 100 G0A>2 
@01>BK. �0==K5 >1 >B:070E ?@82545=K 2 B01;.  

"01;8F0. �AE>4=K5 40==K5 : 7040G5 6        (   )        (   ) 
0-100 45 800-900 16 

100-200 40 900-1000 16 

200-300 35 1000-1100 15 

300-400 32 1100-1200 14 

400-500 28 1200-1300 15 

500-600 25 1300-1400 13 

600-700 20 1400-1500 14 

700-800 17 1500-1600 13 

�5>1E>48<> >?@545;8BL ?0@0<5B@K =0456=>AB8: 25@>OB=>ABL 157>B:07=>9 @01>BK, 
25@>OB=>ABL >B:070, G0AB>BC >B:07>2, 8=B5=A82=>ABL >B:07>2, A@54=55 2@5<O =0@01>B:8 4> 
>B:070. �>AB@>8BL 3@0D8: 7028A8<>AB8 25@>OB=>AB8 157>B:07=>9 @01>BK >B 2@5<5=8. 

7-10. �745;85 8<55B A@54=NN =0@01>B:C =0 >B:07  � 8 A@54=55 2@5<O 2>AAB0=>2;5=8O  � . 

�5>1E>48<> >?@545;8BL :>MDD8F85=B 3>B>2=>AB8 8745;8O. �AE>4=K5 40==K5 4;O @5H5=8O 
7040G 8 >B25BK ?@82545=K 2 B01;.  

"01;8F0. �AE>4=K5 40==K5 8 >B25BK : 7040G0< 7310 

�><5@ 7040G8 �AE>4=K5 40==K5 �B25B     �    � ,G 

7 230 12 0,95 

8 556 23 0,96 

9 556 2,5 0,995 

10 430 8 0,98 

11-13. �745;85 A>AB>8B 87 N 3@C?? ?@81>@>2. �B:07K ?5@2>9 3@C??K ?>4G8=5=K 
M:A?>=5=F80;L=><C 70:>=C =0456=>AB8 A 8=B5=A82=>ABLN >B:07>2 λ. �B:07K ?@81>@>2 2B>@>9 
3@C??K 4 70:>=C  M;5O A ?0@0<5B@>< σ 8 >B:07K ?@81>@>2 B@5BL59 3@C??K 4 70:>=C 
�591C;;0 A ?0@0<5B@0<8    8 k. "@51C5BAO >?@545;8BL 25@>OB=>ABL 157>B:07=>9 @01>BK 
8745;8O 2 B5G5=85 2@5<5=8 t.  

�AE>4=K5 40==K5 4;O @5H5=8O 7040G 8 >B25BK ?@82545=K 2 B01;. 2.2. 
"01;8F0 2.2. �AE>4=K5 40==K5 8 >B25BK : 7040G0< 11–13. 

�><5@ 

7040G8 

�AE>4=K5 40==K5  

N 

3@C?? 

λ =       
1/G 

σ, G          
1\G 

k t, G �B25B  (t) 

11 

12 

13 

3 

2 

2 

0,1 

3 

0,09 

1200 

1000 

3 

0,03 

1,6 

1,3 

1,5 

1,3 

1,3 

1000 

500 

120 

0,54  

0,53  

0,93 

14. !8AB5<0 A>AB>8B 87 B@5E 1;>:>2, A@54=OO =0@01>B:0 4> ?5@2>3> >B:070 :>B>@KE @02=0     �����=160 G;    �����= 320 G;    ����� = 600 G. �;O 1;>:>2 A?@0254;82 M:A?>=5=F80;L=K9 70:>= 
=0456=>AB8. "@51C5BAO >?@545;8BL 25@>OB=>ABL 157>B:07=>9 @01>BK A8AB5<K 70 100 G0A>2 
@01>BK.  

Ответ:  (   )= 0,333. 

15. !8AB5<0 A>AB>8B 87 n >48=0:>2KE M;5<5=B>2. !@54=OO =0@01>B:0 4> ?5@2>3> >B:070 

>4=>3> M;5<5=B0   ����=1000 G. �725AB=>, GB> 25@>OB=>ABL >B:070 A8AB5<K 2 B5G5=85 100 G   (   )= 0,4. !?@0254;82 M:A?>=5=F80;L=K9 70:>= =0456=>AB8. "@51C5BAO >?@545;8BL G8A;> 
M;5<5=B>2.  

Ответ: n = 5. 



 


